Name: _____________
Date : ___________

COST OF SMOKING
Research indicates that every cigarette a person smokes shortens his or her life span about 7 minutes.  If we multiply the number of cigarettes a person smokes in a year and multiply it by 7, we can see how many total minutes a person has shortened his or her life from just that year.  If we take that total and divide it by 525600 (1440 minutes in a day times 365 equals 525600 minutes in a year) we can see the fraction or decimal by which a person has shortened his or her life. (Example:  2.5 years means 2 years and 6 months) However, for every year that a person has quit smoking, the person has added back .2 of a year back to his or her life.

Activity :   For this activity, we will run a Stella model that not only shows how smoking affects a person’s expectant life span but also affects them financially.  To run this model, you must determine the price of cigarettes, tax on cigarettes and how long a person has smoked in 60 years.  For this experiment, we will assume a person began smoking at age 18 and is now 78.  You will decide how long that person smoked.
1.) Set the dials and sliders to 80 cents tax, 4 dollars original price, 20 cigarettes per day (1 pack) and 35 years smoked.  
a.) After just 10 years, how much has this person decreased their life expectancy?

b.) How much have they spent on cigarettes in 10 years?

c.) How much have they spent on cigarettes after 35 years?

d.) In what year did they stop “losing” time from their life?

2.) The price of cigarettes like prices of most things, will probably increase in the future due to inflation.  Likewise, tax on cigarettes will likely also increase as the government tries to curb people from smoking to save money on health care.  Now change the dials and sliders for tax to 2 dollars and original price to 5 dollars.

a.) After just 5 years, how much has this person spent on cigarette?

b.) Could you name 5 other things you would rather spend this money on?

c.) Suppose this person smoked for 50 years, how much have they now spent on cigarettes?  By how much have they shortened their life?
3.) Now put in some of  your numbers for the sliders and dials and try to make some predictions before you actually run the model.  Record the settings and findings for 3 of these test experiments.

Experiment 1:  Settings:

Predictions:

Actual Results:

Experiment 2:  Settings:

Predictions:

Actual Results:

Experment 3:  Settings:

Predictions:

Actual Results:

4.)  On two pieces of graph paper, you are going to make two graphs from one of your experiments.  One graph will show the financial cost of smoking and the second will show the health cost.  Be sure to label your axis and remember the independent variable should go on the x-axis and the dependent variable should go on the y-axis.

